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VI Semester B.Com. Examination, May 2011

(Semester Scheme)
COMMERCE
Paper — 6.3 : Management Accounting

Time : 3 Hours Max, Marks : 90

Instruction : Answer should be fully either in English or in Kannada .

SECTION - A

1. Answer any 10 sub-questions. Each sub-question carries 2 marks : (10x2=20)

- a) Define “Financial Statement Analysis”.
b) Define “Cash Flow Statement”.
¢) State any two limitations of “Management Accounting”.

d) State any two differences between Management Accounting and Cost

Accounting.
) What do you understand by the term Return on Investment ?

f) Name any four management reports for middle level managers.

g) Give the meaning of comparative statement.

P.T.O.
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h) Explain the significance of Price Earning Ratio.
i} Define “Accounting Ratios”.

j) Gross Profit of a firm is 25%. Gross profit 3 1,00,000. Calculate cost of

goods sold.

k) Average stock of a firm ¥ 50,000. Its opening stock is ¥ 10,000 less than its

closing stock. Find out opening and closing stock.

D) Cost of goods sold ¥ 5,00,000. Gross profit 20% on sales. Cash sales are

25% of credit sales. Find out credit sales.

SECTION - B

Answer any five questions. Each question carries 5 marks. (5x5=25)
2. Explain any five advantages of Cash Flow Statement.

3. “Analysis without Interpretation is meaningless and Interpretation without Analysis

1s impossible.” Discuss.

4. Discuss the objectives of “Management Reporting”.
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5. The following information given about Bharath Nirman Company for the year
ending 315 March 2010

i} Stock Turn Over Ratio = 6 times
iy Gross profit ratio = 20% on sales
iif) Sales ¥ 2,00,000
iv) Closing stock is ¥ 10,000 more than the opening stock.
v} Opening creditors ¥ 20,000
vi) Closing creditors ¥ 30,000

vii) Net working capital ¥ 50,000

Find out :

a) Average Stock

b) Average payment period
¢) Purchases

d) Working capital turnover ratio.

6. Prepare comparative Income Statement with the help of the following information

Details _ 2006 2007
Sales 3 10,00,000 ¥ 16,00,000
Cost of goods sold 75% of sales 80 % of sales
Indirect expenses 40% of g%oss profit 30% of gross profit
Income tax 55% of prpﬁt before tax 50% of profit before tax
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7. Calculate Fund from operations from the information given below as on

31-3-2010.
1) Net profit for the year ending 31-3-2010% 6,50,000
if) Profit on sale of Building ¥ 35,500

1) Goodwill appear in the books at¥ 1,80,000 out of that 10% has been written

off during the year
iv) Old machinery worth % 8,000 has been sold for ¥ 6,500 during the year
v) ¥ 1,253,000 have been transferred to General Reserve.
vi) Advertisement Suspense a/c ¥ 5,000
8. Prepare Plant Account from the following :
i) Plant as on 1-1-09% 2,98,000
ii) Plant as on 31-12-09%4,29,250
iii) Depreciation charged on plant 15%
iv) Old plant cosi:ing T 50,000 (WDV % 20,000} have been sold for T 35,000
v} A plant costing ¥ 10,000 (WDV 2 3,000) has been discarded

vi) A plant purchased for % 2,30,000
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9, From the following information, interpret the results of operations of a
manufacturing concern, using Trend ratios.

Details 2007 | 2008 | 2009 | 2010
Sales (Net) 100 90 120 | 150
Less : Cost of goods sold 60 60 70 80

Gross profit 40 30 50 70
Less: Operating expenses 10 10 15 20
Operating profit 30 20 35 50
Less : Taxes 15 10 | 175 25
Profit after tax 15 10 | 17.5] 25
SECTION - C
Answer any three questions. Each question carries 15 marks. (3x15=45)

10. The Balance Sheets of Karthik Company and Subash Company as on
31-12-2010 are as follows. Compare the financial position of both the firms with
the help of common size Balance Sheets and interpret the results.

Liabilities Karthik Subash Karthik Subash
Co. Co. Co. Co.
Preference Land & Building 80,000 1,23,000
share capital 1,20.000 1,80,000 Plant & Machinery 3,34,000  6,00,000
Equity share Temporary
capital 1,50,000 4,00,000 Investments 1,000 40,000
Reserves & surplus 14,000 18,000  Stock 10,000 25,000
Long term loans 1,15,000 1,30,000 Bookdebts 4,000 8,000
Bills payable 2,000 —  Prepaid expenses 1,000 2,000
Sundry creditors 12,000 4,000 Cashand Bank
/S expenses 22,000 10,000 balance 8,000 30,000
Proposed Dividend 10,000 90,000  Preliminary expenses 7,000 4,000
4,45,000 8,32,000 4,45,000 8,32,000
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11. From the following Balance Sheet of M/s PQR Limited as on 31-12-2009 and
2010. Prepare Fund Flow Statement.

Liabilities 31-12-09 31-12-16 Assets 31-12-09 31-12-10
T T 3 T

Share capital 5,00,000 6,00,000 Plant & Machinery 3,00,000 2,50,000
General Reserve 80,000 1,20,000 Land & Building 2,00,000 4,00,000
Profit and Loss a/c 60,000 1,00,000 Stock 2,60,000  2,00,000
Bank loan (long term)  1,60,000 1,00,000 Debtors 1,30,000 2,00,000_
Sundry creditors 1,20,000 1,60,000 Cash 50,000 60,000
Provision for taxation 40,000 60,000 Investments 60,000 80,000
O/S Expenses 40,000 50,000

10,00,000 11,90,000 10,00,000 11,90,000

Additional Information :
a) Interest paid on Bank loan ¥ 10,000
b) Income tax paid for the year 20103 44,000

c¢) Assets of another company were purchased for a consideration of ¥ 1,00,000
paid in shares. Assets consisted of land and building ¥ 40,000 and stock
T 60,000.

d) A machinery costing ¥ 50,000, accumulated depreciation ¥ 20,000, sold for
2 10,000. The loss being written off against General Reserve.

e) Closing stock of 2010 was over valued by ¥ 5,000.

f) Investments are Trade Investments ¥ 600 by way of dividend was received
including ¥ 200 from pre acquisition profits which has been credited to

Investment Account.
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12. The following information is given :

13.

a) Current Ratio = 2.5

b) Liquid Ratio = 1.5

¢) Stock Turnover ratio (cost of sales/closing stock) = 6 times

d) Gross profit ratio = 20%

e) Fixed assets turnover ratio = 2 times

f) Average Debt. collection period = 2 months

g) Fixed assets : Shareholder net worth = 1:1.
h) Net working capital?¥ 3,00,000

i} Reserve : Share capital =0.5:1

Draw up a Balance Sheet from the above information.

MS - 325

From the following Balance Sheet of XYZ Company Limited and additional
information, prepare a cash flow statement for the year 2009.

Liabilities

Share capital

Share premium
Retained earnings

7% Mortgage loan
Creditor

Provision for taxation
QOutstanding salaries

2008 2009
4 k4
70,000 80,000

9,000 11,000
23,820 30,820
- 20,000
6,900 6,000
1,000 1,400
2,000 1,400

1,12,720 1,50,620

Assets 2008 2009
T T
Plant & Machinery 62,000 66,000
Accumulated
Depreciation
on plant (37,000) (26,200}
Building 95,000 1,16,000
Accumulated
Depreciation
on building (43,000) (45,000)
Land 10,000 12,000
Stock 10,220 9,620
Debtor 8,600 7,600
Prepaid expenses 720 800
Cash 6,180 9,800
1,12,720  1,50,620
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Additional Information :

i) Plant costing ¥ 16,000 (accumulated Depreciation 14,800) was sold during
the year for ¥ 12,000.

i) Building was acquired during the year at a cost of ¥ 21,000. In addition to
cash payment of ¥ 1,000, a 7% mortgage, loan was raised for the future.

ii) Dividend of ¥ 8,000 was paid during the year.
iv) A sum of% 13,900 was transferred to provision for taxation account in 2009.

14. State with reasons whether the following transaction results in increase or decrease

of working capital or do not affect the working capital :
a) A company issued Debenture for ¥ 2,00,000.
b) Creditors toﬁk over investments ¥ 17,500.
c) Stock T 10,000 was sold for T 15,000.
d) Income tax paid T 25,000.
¢) Underwriting commission paid ¥ 6,000.
f) Machinery purchased by issue of Equity shares for T 60,000.
g) Investment ¥ S0,000 were sold for T 15,000
(Assumed Investments are long term).
h) 40,000 was transferred from profit and loss a/c to General Reserve,
i) Creditors account for ¥ 40,000 were settled at 5% Discount.

J) Amount paid for Insurance ¥ 7,000 includes ¥ 1,500 prepaid insurance.,
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